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3L oll. 202, AiG18527U U Yot NAunidl Hlys unl Yo v2sl sul 9?
(A) AU HHA%A HI2 ¥AdAAL, AHIAAL 2 i

(B) el&d aist 12 2ulls yrau, suq 2 s aHiAL

(C) ud W12 s, NRd ¢ [

(D) Ad 12 i, Aldsdl 244 N8 el

AHU¥ 5 =1 27 AR5 AL HAnaU gL sRAL AR wRUR s anHl dRiad yaRa wiHl Hla-l
U5 56 bt A3 sUHE 2udl 872

(A)»124 Qul »1eygu ALyl — Atal Vayo Abhyuday Yojana (AVYAY)
(B) 2124 ¢ Ui%-lL — Atal Sneh Yojana (SNY)

(C) 2124 & Ui%-il — Atal Bhujal Yojana (ATAL JAL)

(D) 212& Ur Uil — Atal Pension Yojana (APY)

RUAHL 21U 3R Bzl seaR e AHC S = 244 A58 [ARuoLg1R1L 56 Al A3 sauul
2udl 897?

(A) 21-u =3 Al5diil seue 2 s Yadudt (CRWTP)

(B) 2u(ast x4 Gello-Aas A Wi il a3 2 al3duil w2 2u41R (SMILE)
(C) 21-u%~32 A3 W2 AU U] dly-u (SNPTP)

(D) 21-u%B~32 U~ (U250 2Uis AS2A-S S 28L) 2152 2019

ela dlsini Qe 249 gl Faaa 214 du-l 2uldls Rald yara w2 192340 vldsgd [RasuRell
Al 2uqu s 5902

(A) HsLewL il (B) M1 AiK1352

(C) AREIR acaMus u2d (D) til3uzig A2
RURAL A2uld 524l quid 30l 2421 A3 9?

(A) s Qud (B) A8 Quid

(C) ol avid D)2 »2d) auid
A-unidl sie curadl sdla WAlHsndl slssini e @ as 97?

(A) MRd-1 guld (B) 3612 -l

(C) A sau-L H-{l2l (D) et W-{lal

si-ll A8 d60 AL AUl saH 352 861 52152l N8R 53 A5 9?7

(A) dHIH AU HouHAl2A (B) a3ttt

(©) 3Rz (D) AU AFAUIA

o1 GIRcHL AU 3 Buarguld Guasy A glu R 2uld a3 sl 51 53 97
(A) Aopu-i Al alRw Axana (B) ALSAMLAL 48

(©) FuRd- v, ~uayd (D) MR-l Ai[32R %14

uRdlY sl 3269€ 36 So0 AN sAAA 52153Hl dlnel, AUAE gl Seadl AHUH HoR adl
QU 97

(A) 6 u[g-u (B) 3 ulg-u
(©)2 ulg-u (D) 1 u&-
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008.

009.

According to B.R. Ambedkar, the core components of social justice among the following:
(A) Liberty, equality, and fraternity for all humanity

(B) Economic security, knowledge, and social equality for downtrodden

(C) Unity, dignity, and education for all

(D) Justice, morality, and public conscience for all

Which among the following is a scheme for improving the quality of life of senior citizens of India
launched by the Ministry of Social Justice and Empowerment?

(A) Atal Vayo Abhyuday Yojana (AVYAY)
(B) Atal Sneh Yojana (SNY)

(C) Atal Bhujal Yojana (ATAL JAL)

(D) Atal Pension Yojana (APY)

What is the scheme launched by the Department of Social Justice and Empowerment for the
welfare of transgender persons in India?

(A) Comprehensive Rehabilitation for Welfare of Transgender Persons (CRWTP)
(B) Support for Marginalized Individuals for Livelihood and Enterprise (SMILE)
(C) Scheme of National Pension for Transgender Person (SNPTP)

(D) The Transgender Persons (Protection of Rights) Act 2019

Who set up the Bahishkrit Hitkarini Sabha in 1923 to spread education and culture amongst the
oppressed, and improve their economic status?

(A) Mahatma Gandhi (B) B.R. Ambedkar

(C) Sardar Ballavbhai Patel (D) Bankim Chandra Chatterjee

How many times the President of India can be re-elected?

(A) Once (B) 3 times

(O) 2 times (D) Any number of times

Who among the following can attend meetings of the Union Cabinet of India?

(A) The President of India (B) Cabinet Ministers

(C) Ministers of State (D) Deputy Ministers

Under whose advice the President of India can declare an Emergency under Article 352?
(A) Chief Ministers of all states (B) Prime Minister

(€) Cabinet (D) Governor of the State

When neither the President nor the Vice President of India is available, who acts as the President?
(A) Seniormost Governor of a State (B) Speaker of Lok Sabha

(C©) Chief Justice of India (D) Auditor General of India

A proclamation of Emergency, issued under Article 36 of the Indian Constitution, must be approved
by the Parliament within

(A) 6 months (B) 3 months
(C) 2 months (D) 1 month
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010.  HSTH 52¢l AHAON HIE MR- Burguld curd-l guld 415 siieiR dcuddl as?

(A) 1 (B) 6 {31
(C) 4 ulg-u (D) 3 ulg-u
011, A% N8R A AL A48 i AALAL [AHRLS SinL 1L SaUHT 21 €97
(A) MRd-1 guld (B) URd AL a3t
(C) RA%UL AU (D) ydl2AA U ARHAA
012.  «lelll 321 AuAM (518[Fuc 2l 22) L w8 51 87
(A) guld (B) Guarzuld
(C) AR08 ya-i A (D) 18
013. HSTIH 52¢1 AHAVN HI2 s AHA, 5 A% UR AUld - el asia 9?
(A) 6 3~ B)1 @
(C)2ad (D) 5 ad

014,  GuRdd d2elli i we Yeull wi 87
(A) g, Ao [, 0guld 214 Guarguld- ue
(B) g, A% [Aaiacuil 244 aou uRue
(C) e
(D) e, A% [Qarucul 213 Ya1udl
015.  axguld a3 Aeell w2 sitemi [MRatRa uedu au 324l 97

(A) 80 (B) 75 @l
(C) 70 @l (1) ERRTI AR
016.  CuRd- Hva 426l sl [Augs sia 52 97
(A) eezuld (B) a3ttt
(C) MIRd-L v, ~uayd (D) ¥AL
017.  ®Rd-lL sitnRHl S2cl usRl s2is8Hi [Rga sami 2l 97
(A) i (B) AR
(©) 22 (D) i
018.  GURAL AMHLA tirial HI2 AL ) S2dl GuR Sidl 39 977
(A) 40 @ (B) 35 a
(C) 30 av @) 25
019.  A%2uld IR ALSAML U AGAAML HIZ 5241 AU [AHELs 5040 204 97?
(A) 18 (B) 16
(©)14 (D) 12
020.  AHIM AU HraHli Sig-l 34 .......... AL UL 69,
(A) ld 2uaia (B) A1u [As1 uRue
(C) ~usuy (D) 2AidR-A%u ulRne
021. 2024 ifafFusui s ol 2o Al ay dles Hag Haew?
(A) A2 21 YA (B) A2 24 A
(©) y¥iul v Al (D) Y 5 2 YU
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010.

011.

012.

013.

014.

015.

016.

017.

018.

019.

020.

021.

The maximum duration for which the Vice President of India may officiate as the President of
India?

(A) 1 year (B) 6 months

(C) 4 months (D) 3 months

The Chairman and members of the State Public Service Commission are appointed by
(A) President of India (B) Prime Minister of India

(C) Governor of the state (D) Chairman, UPSC

The ex-officio Chairman of the Council of States is

(A) President (B) Vice-President

(C) Leader of the opposition (D) Speaker

At a time, a President’s rule can be imposed on a state for a maximum period of
(A) 6 months (B) 1 year

(O) 2 years (D) 5 years

The Election Commission India holds elections for

(A) The Parliament, State Legislature, and the posts of the President and the Vice-President
(B) The parliament, State Legislative Assemblies, and the State Council

(C) The Parliament

(D) The parliament, the State Legislative Assemblies, and Panchayats

The maximum age prescribed in the Constitution for election as President is

(A) 80 years (B) 75 years

(C) 70 years (D) No age limit

Who appoints the Chief Election Commissioner of India?

(A) President (B) Prime Minister

(C) Chief Justice of India (D) Parliament

How many types of Emergencies are enumerated in the Constitution of India?
(A) Five (B) Four

(C) Three (D) Two

What is the minimum age required to become the Prime Minister of India?

(A) 40 years (B) 35 years

(O) 30 years (D) 25 years

How many members are nominated by the President to the Lok Sabha and the Rajya Sabha?
(A) 18 B) 16

©) 14 D) 12

Chief Ministers of all states are ex-officio members of

(A) NITI Aayog (B) National Development Council
(C) Finance Commission (D) Inter-State Council

Which two countries secured the most gold medals in the 2024 Olympics?
(A) Russia and USA (B) Russia and China
(C) USA and China (D) UK and USA
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022.

023.

024.

025S.

026.

027.

028.

029.

030.

031.

032.

2024 i[APusni cud 2 [ReaR 211 e Hid eu?

(A)1 214 5 (B) 2 ¢ 4

(C)3 3 (D) 4 14 2

e (INS) 2Ra2 ..........

(A) duRa-l ol umg, Ao 8. (B) iRd-{l uddl ug, Aol 8.

(C) *Rarl xidviflu dilaRRes Puda 8. (D) *uRd-l siduAllAs 5 Fuda 9.
AHRIR [Feenni 514 s 24 H-ala aq(d-l [Qaun [Aldga anadl DA uHidl sui Genn 2udal 9?

(A) eRus AU Genrt 21 AMARRA (B) 0= AU Genrt

(C) vt xdlu Geunt (D) sislRu ava

QR 6{HIRRIAL 5L HPAIE S50 HRYWUAL S AAULA AL 97

(A) x14289¢ 15 (B) ¥U3%9¢ 16

(©)»1429¢ 17 (D) 2A4249¢ 18

QAR M ... 4 g qea Has 8.

(A) AURAY seuni- [Aeu (B) Hard 2usid < s Szt
(©) *uRdlu yRudr udaw (D) la 2uaia

Daunioll 53 210200 AU WH w2l cua 97

(A) R~ arumq 2102129 (B) ell3cu aruma A @AY
(C) Anadl aru@a AMAIRY (D) uRll A2 A™MAIRRY

SRS [Beal, i ydui 1t auoun, uBnui asisan e, GrHl AR st »i elfami
AUELE £ UHA VM AR NAAGIR 9 o YA sU [Feeuni vudal 97

(A)asieu (B) uisl

(C) uaus1A (D) 9121828y

AlsL 58 ol gl Ao 2w 97

(A) eRUAL 24 AHEL (B) oRUdl 244 s

(C) wél 4 Al (D) Al 4 udl

Guadly Awra Al (R2ade dladta aldn — NavIC) si-u gii [Qsuaami 2udl 9.2
(A) goiu (B) *uRd

(C) At (D) Al

R cruz ivl DA-uwidl 53 2 97

L well2iniel ugrani 4sf@a ad as o,

I 2AUR3 HARu- wenld [Ruis araq gedl agHir 8.

T AU R aaRanl Au dlg 4aq AU 249 DadRL 1%L Ao, 516 o 8.

(A) $5d T 8. (B) $5c T 24 11 20 69,

(C) 55 T 21 T11 A1 89, (D)L, 11, 24 111 — s14i o i 69,
gl ‘58 sulld g AP Hisq 97

(A) Yud (B) 2L

(C) s sils2 (D) AR
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022. How many silver and bronze medals did India win in the 2024 Olympics?
(A) 1 and 5 (B) 2 and 4
(C)3and 3 (D) 4 and 2
023. The INS Arighaat is
(A) India’s second nuclear submarine
(B) India’s first nuclear submarine
(C) India’s intercontinental ballistic missile
(D) India’s hypersonic cruise missile

024. Which among the following parks with a great diversity of habitats, Coral Reefs, and Mangrove
vegetation is located in Jamnagar district?

(A) Marine National Park and Sanctuary (B) Gir National Park

(C) Polo National Park (D) Kankaria Lake
025. Under which article of the Indian Constitution, untouchability is a punishable offence?
(A) Article 15 (B) Article 16
(C) Article 17 (D) Article 18
026. The Dharohar Bhawan is the new Headquarters building of
(A) India Meteorological Department (B) National Archives of India
(C) Archaeological Survey of India (D) NITI Aayog
027. Which among the following sanctuaries is part of the Western Ghats in Gujarat?
(A) Chinnar Wildlife Sanctuary (B) Bhindawas Wildlife Sanctuary
(C) Netravali Wildlife Sanctuary (D) Purna Wildlife Sanctuary

028. Dabhoi Fort, which has four gateways named Hira Bhagol in the east, Vadodara Gate in the west,
Champaner Gate in the north, and Nandod Gate in the south is located in which district of Gujarat?

(A) Vadodara (B) Kheda
(C) Panchmahal (D) Chhota Udepur
029. Vautha is the confluence place of which two rivers?
(A) Sabarmati and Narmada (B) Sabarmati and Vatrak
(C) Mahi and Kim (D) Tapi and Mahi
030. The satellite navigation services — NavIC — is developed by ?
(A) USA (B) India
(C) Japan (D) China
031. Which among the following is correct regarding the Nipah virus?

I. Can be transmitted to humans from animals
II. Fruit bats of the Pteropodidae family are the natural host of the Nipah virus.

II1. Nipah virus infection in humans causes acute respiratory infection and fatal encephalitis

(A) Only I is correct (B) Only I and II are correct

(C) Only I and III are correct (D)1, I1, and III are correct
032. ‘Gemini’ is a new AI model of which company?

(A) Apple (B) Google

(C) Microsoft (D) Samsung
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033.

034.

03s.

036.

037.

038.

039.

Rl Alefl 53] AR-Sdl2s vile, [3AMAR 20231 Ao dl-A sUHL 2, B UM ... £9.

(A) Ayl (B) QB
(©) sl (D) AHZA

SLIM (312 A3 $12 Sral[22918101 84 ) 24 -t wid A2 Hie Al auidlu su1 22 glL HisAHi
pdd 97

(A) goiu (B) 2wt

(C) L2 (D) Al

adHiHi [Qaui s ol eol Aldl ay suiAnl Gauest 97

(Al 214 curd (B) HURd 24 61212

(C) Al 211 sidezal (D) sticcel A [duld-un

I UHIR gIRL ALl {3t Al i3 sY/5ul Uy 97
L 20 Wi 52l WS AL 2a-Aue1 ol 2u-L A 6.

IL 1 W52 v 5304 9orud- wdlel [QdiRing adler HSaiziia Al usiani YRl sa
AUAH o1-Ud ©.

IL 20 Wzse 2ulAs Qs uBad ao suya 214 wldaai sengtdl viddl sal W ey
AU UELM 52 69

(A) $5d 1 24 11 (B) $5d I 241 111
(C) $5d 11 241 111 (D) oaui o
[Aedl...

(A) 5+ ASIR 10N Al Aol Jv AL (BPL) uRaRl #i2 a1 [dadl du-dl usia
RIECTREL I TR )

(B) 21r21d AR ANl e AL (BPL) uRaiRiA wenla usia gzt Aeudlu [Qde-dl ugiami
YR 52U W saL ALyl AHAH] Y.

(C) 2020 Hanay gL Aol un A (BPL) uRal w2 »uyRs dollell ylamail dnaal we
22104 dlHL Alor-L A3 sAUHL 2udl .

(D) ula 211 oun (A5 d-nau grau alofl v Al (BPL) ulRaikiqu dRd sunst 112 2010y 4l
AlogHL A3 sUHL 20l €.

A (GST) suL vitnellu YRl B g1y 20 s 20 8d?

(A) 1221 gL By (B) 12341 Y (B

(C) 124 YL By (D) 1254 YawL B

430l 225 (Agri stack) g €97

(A) RBly2a F1as g+l 8q HiRdHE vidl-l -l uR 2yl 32164 si-laai-l 8.

(B) vidl W2 U [Buw, G-l vid Gaues umall, 2auAs 244 [Alrs WS 2 tromRini
250 ud WS-l A5 BRrea 3Has.

(C) URIR IR ABAAUR 5[ Baulg -l A 2511 61212 FHIA (MSP) UR uius 32164 ei-laan Hie Blyeq
3uas

(D) AR gIRL 25 $AAA Azl uis dlHL i 25170 612 eua (MSP) W2 RBl%yed 31as
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033.

034.

03s.

036.

037.

038.

039.

India’s fastest solar-electric boat, launched on December 2023, is named as
(A) Aisurya (B) Varuna
(C) Barracuda (D) Vyomakesh

The SLIM (Smart Lander for Investigating the Moon) is a small-scale exploration sent by which
country for landing on the Moon’s surface?

(A) USA (B) Japan

(O) Russia (D) China

Which two countries are the largest cotton producers in the world today?

(A) China and India (B) India and Bangladesh

(C) China and Bangladesh (D) Bangladesh and Vietnam

Which is/are correct regarding the Sakhi Mandal Yojna by the Government of Gujarat?
I. The project involves the formation of women self-help groups

II. The project to enable poor women, particularly in rural areas of Gujarat to improve their
access to resources

III. The project provides financial services to accelerate the process of economic development and
ensure the welfare of women

(A) Only I and 11 (B) Only I and I1I
(C) Only II and I1I D) All
The Chiranjeevi Yojana is

(A) A central government sponsored scheme for the BPL families to improve their access to
institutional delivery

(B) A Gujrat government implemented scheme to encourage the BPL families to improve access to
institutional delivery through financial assistance.

(C) A health insurance scheme launched by the Ministry of Health for BPL families to access
modern medical facilities

(D) A health insurance scheme launched by the Ministry of Women and Child Development for the
underprivileged children of the BPL families.

The GST was introduced by which Constitutional Amendment Bill?

(A) 122" Amendment Bill (B) 123" Amendment Bill

(C) 124™ Amendment Bill (D) 125" Amendment Bill

What is ‘Agri stack’?

(A) A digital framework meant to build a complete database on farmlands in India.

(B) A digital framework meant for farmers to get easier access to cheaper credit, higher-quality
farm inputs, localized and specific advice, and convenient access to markets.

(C) A digital framework to build a comprehensive database on state-wise agricultural products
and MSP by the government

(D) A digital framework for nationwide crop insurance and MSP offered by the government.

BIX - MASTER | 9 P.T.O.


Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


040.

041.

042.

043.

044.

045.

046.

047.

048.

049.

050.

AR 2024 Wi HIRA 5L W A0 22 118 AARS UMY, A 512 HIS UMl A (ANVUY) UR
SRAUAR sUl Se?

(A) SaNA4 (B) 1

(C) AGE| »13[6r D) yruses »ue wlld

RURATL AHIH ABLeHS 5 URHIYEUILY, AA1ar 21 adlag 56 Aeu- Aluani 2uci 97
A) cudly s g (Indian Air Froce)

(B) &udlu Aist €0 (Indian Navy)

(C) *uRdld A~ (Indian Army)

D) AU8LHS gl UL (Strategic Froces Command)

2l 241 el 6id ueAll aRLdl sl Y2 Y uRuedl o v s2d) 972

A) 5 (B) 10

©) 15 (D) 20

wesll syl .......... Al a2l 2udd) 8.

(A) U. 6iou0 A RIHIR B) ulRa-ug x4 sles

(C) g x4 [RsiouR (D) %A i Q&g
A-uniddl sul 29 cud we Al @ioll gl Qrad 92

(A) siccne (B) 1w

(C) Mcint (D) Guarimiall 245y -
RURAAL suL A% Al alell gRulE-uRl 97

(A) iR (B) 3’1

(C) dlRa-ug )L

QA-unigdl sul 2o Bisu (BRICS)HL a4 )?

(A) yriu (B) A+

(C) culda (D) (2

sy, (A Houau cudla sl 118 511 52 697

(A) Rl tuRdld WHAL, Hanau (B) duIR 24 auldiosy Hanax
(©)[aga e (D) Ha A8 [ Wouay
1269 iy AdER (SVS) 2024 AAAR IR 6L Alel 24269 A sul 97

(A) HS 24 AifloR (B) €12 i1 Yd

(C) S+€ir 2 aitl21R (D) HuS 24 $-€iR

Ul 2 31 Asteoizl 202410 R aysHl Bl dn-l [Gualla 224 Aist saud sul ud
oy 97

(A) YA AR (B) 20U UA5H
(©) a1 (D) ¥A d33L

Ul 2024 ilafFusui Qe Al ......... q3d el

(A) & B) [

(C) &L~ (D) 25 uRL -1l
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040.

041.

042.

043.

044.

045.

046.

047.

048.

049.

050.

With which West Asian country, India signed a Memorandum of Understanding (MoU) for civil
nuclear cooperation in September 2024?

(A) Israel (B) Iran

(C) Saudi Arabia (D) UAE

Which organization is entrusted to manage and administer all strategic or nuclear forces of India?
(A) Indian Air Force

(B) Indian Navy

(C) Indian Army

(D) Strategic Forces Command

By counting both permanent and non-permanent members, what is the total strength of U.N.
Security Council?

(A)S B)10

©) 15 D) 20

Palk Strait is a strait between

(A) West Bengal and Myanmar (B) Tamil Nadu and Sri Lanka

(C) Andaman and Nicobar (D) Gujarat and Lakshadweep
Which of the following countries share the longest land boundary with India?

(A) Bangladesh (B) Nepal

(C) Bhutan (D) None of the above

Which Indian state has the longest coastline?

(A) Odisha (B) Kerala

(C) Tamil Nadu (D) Gujarat

Which is NOT a member of BRICS?

(A) USA (B) China

(C) Brazil (D) Russia

Which particular ministry deals with the Indian Diaspora?

(A) Ministry of Overseas Affairs (B) Ministry of Trade and Commerce
(C) Ministry of External Affairs (D) Ministry of Human Resource Development

As per the ‘Swachh Vayu Survekshan (SVS) 2024, which are the two cleanest cities in India?
(A) Mumbai and Gandhinagar (B) Indore and Surat
(C) Indore and Gandhinagar (D) Mumbai and Indore

The Indian and French navies held their 22nd edition of bilateral naval exercise in 2024 in the
Mediterranean Sea named as

(A) Operation Saagar (B) Operation Parakram
(C) Varuna (D) Jal Tarang

At the Paris 2024 Olympics, Neeraj Chopra won a medal.

(A) Gold (B) Silver

(C) Bronze (D) No medal
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051.

052.

053.

054.

05sS.

056.

057.

058.

059.

060.

061.

A AR UF, 9 S0U U AR U [Bud 21g4sH 31 150/-, 31 50/- 27 3L 120/- 1A dl AR
A5, 1 50U 4 AR UM [BHa seell iy ?

(A) 3L 320/ (B) 31. 455/-
(C) 31. 450/- (D) 31. 365/-
A 518 ALSSU HUL$HA 10% ALEL A% €2 AR A HI2 A58 sl g 1 d o YN 84U 15% U

-\

AULEL % €2 6L A W2 A1 sl HOLAL Q0% B2 % SIU dl o HUL $H AL

(A) 3L. 10,000/- (B) 3L. 15,000/-

(C) 3L 20,000/- (D) 515 w54

A Vs AHIAR SRNHI USY i 95 UE vigsH 256 1A 8 & el d sl ALY w1 A1y ue Al
(A) 256 (B) 4

(C) 64 (D) 128

-

100 &5l 245 [BauHi 8.5 saus 511 530 245 [Rud 514 30 [Baumiyg 52 9. o 150 ALSL 6 sALS 511 52 dl
Al AR [Rad S1d S2a1 amami yi s3 asi ?

(A) 75 (B) 85

(C) 60 (D) 90

25 opoflumi uda HR Alsi [Badl udarue culsaii-i Aysd udel 34es 31 900 Sd. yesl EUE 10+
AHIRL $AUHL 2UAA 81U dl 8 25 ALSIHL AR WIS N9 Yes 524 s ?

(A) 3L 1500/- (B) 3L. 1750/-
(©)'31 1650/- (D) 3L 1600/-
6,8,-9,-7,-5,9, -8 Vi1 5 HEu2Y 4.

@Ayo (B) 0.5

O1 (D) -5

2 (A A% ‘LEAST’ -l o8l 28121 vl s2e aoel ol asta ? (Avel A4y sieu %320 -il)
(A) 60 (B) 30

(©) 120 (D) 10

A 2uia [Aseqinidl 2140 usdl [Qseu .

(A) USIR (B)

(C) g (D) 20uil

A2 vuda gellui 2uamng ue albl.

0,6,24, 2

(A) 96 B) 60

(C) 125 (D) 144

N Y

21 A 3L 30,000 GL5HL %HL S\l BHL 3L 200 27 3L 500+ & 96 ARl 2l AL AUl 1Y dl
30200+ 24 31 500 Al 2754 S2efl A4l il Gualal sul ¢l ?

(A) 60 11 36 (B) 50 i- 46

(C) 36 i1 60 (D) 40 A 56

25 olsdul s SHAA 211 245 WAL BHAAL R 3:4 8. 15 £l AQ 214 20 WAL Buasl
NIEILERTETR

(A)9:16 (B) 3:4

(©) 59 D) 4:7
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051.

052.

053.

054.

05sS.

056.

057.

058.

059.

060.

061.

If three apples, six bananas and four oranges respectively cost Rs. 150/-, Rs. 50/- and
Rs. 120/-, how much would four apples, nine bananas and three oranges cost ?

(A) Rs. 320/- (B) Rs.455/-
(C) RS. 450/- (D) Rs. 365/-

A principal invested on 10% simple interest for three years gives the same interest as the one
invested on 15% simple interest for two years. find the principal.

(A) Rs. 10,000/- (B) Rs. 15,000/-
(O) Rs. 20,000/- (D) Any amount

If the first and the sixth terms of a geometric progression are 256 and 8 respectively, find the
product of the third and the seventh terms.

(A)256 (B) 4
(C) 64 (D) 128

If 100 people work for 8.5 hours a day, a task gets completed in 30 days. Find how many days it
would take to complete 3 such tasks if 150 people work for 6 hours a day.

(A) 75 B) 85
(©) 60 (D) 90

The entry fee of a park for 15 people was Rs. 900/- some days back. If there is a rise of 10% in the
ticket now, what would be the total amount for a group of 25 people?

(A) Rs. 1500/ (B) Rs. 1750/-
(©) Rs. 1650/- (D) Rs.1600/-
The median of the data 6, 8, -9, -7,-5,9,-8 and S is :

A)0 (B) 0.5

o1 D) -5

How many words, not necessarily meaningful can be formed using all the letters of the word
‘LEAST’ once ?

(A) 60 B) 30

(©) 120 D) 10
Find the odd one out :

(A) Cylinder (B) Cube
(C) Cone (D) Sphere
Write the next number in the following sequence.

0,6,24, ?

(A) 96 B) 60

(O) 125 (D) 144

Atul deposits Rs. 30,000/- in a bank using 96 currency notes of Rs. 200/- and Rs. 500/-. How many
notes of Rs. 200/- and Rs. 500/- respectively he would have deposited?

(A) 60 and 36 (B) 50 and 46
(C) 36 and 60 (D) 40 and 56

At a bakery, the price of a cream roll and a pastry is in the ratio 3:4. Find the ratio of the price of
15 cream rolls and 20 pastries.

(A)9:16 (B) 3:4
(€)5:9 (D) 4:7
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062.

063.

064.

065.

066.

067.

068.

069.

070.

12 {l x 10 3 -l [AzeliR 4R1adL gHlA- 2531 5d U3 sl 8 dny d-ll 2ieR €35 buagell 130 il

c

a2 [QdiRul s Gausard 8. o s Gaugairll WA 31 500/- ALl ld A Aig sal WA
3. 80/- L. giy, dl ga vl sedl w9l ?

(A) 3\. 42,880/ (B) 3L. 43,200/-
(C) 3\. 41,760/- D) 3. 43,520/

30 [lAe-u e25 Adl il s eManq [Qsuu e ol vidua 1 [MlAz 20 As-suia 8. ol vigsis
gl s a2 vu vidRud 4 [ARe-l §lu Y.

Us: 2 SALSHL S2al AHAAUOUL W2 MRS 51 AR A ¢l ?
(A) 98 [A[A2 40 As~s B) 97 [MlAz 20 As~3
(C) 96 A2 (D) 95 (A2 40 As~s

30 [z e25 Adl il s eManq [Qsuuq e ol vidua 1 [lAz 20 As-suiu 8. ol vigsis
gl s a2 vu vidrua 4 ARl §lu Y.

wat s o Qs vl €2 31 6000/- [lR2 S, dl 2 sausHi sa [Asuundl Wl 524l asl ?

(A))3L. 1,36,000/- (B) 3. 1,28,000/-

(C) 3L 1,44,000/- (D) 3L 1,46,000/-

25 ulaumi GHeaR A 76 R HNdl 5% - dastadell «ugdlel 28 ©. ot Gdlel aq we-l esiudl 43%
Sid dl,

us : GuRlsd [Aodl Yoror udlauni g o seen i ?

(A) 150 (B) 100

(©) 200 D) 58 [QAsey Al

25 ulaumi GHeaR A 76 R HNdl 5% - dastadell «ugdlel 28 ©. o Gdlel aq we-l esiudl 43%
Sid dl,

A A

usd ;o oflog GHear B Grilel aaidl estcudldl 7% ay @ dnd 6 dl del s s2e e Wl gal ?

(A) 150 (B)'100
(C) 90 (D) 95

220 [3A%12, 19831 [BAA YsaUR ell. Al 198441 HisH 526l AHAIR VA 521 HANAIR Ul St ?
(A) 52 ¥ 53 (B) )53 ¢4 52

(C) 52 v 52 (D) 53 241 53

25 6913 U usal uin 54 vileu vt i ugdl A% A il Avmi sa vild 9. 951 [2ad d 6918 U g4
sedi sa sl ?

(A)1215 (B) 3645

(©) 125 (D) 729

25 UL AL 2 d 4L AvAHE oUR GHA Hadl Yrrivadl JRUSIR 85 6. driival-u adlmidl 2 sug
5l HOdl ivan 2kl

(A)9 (B)22
©)5 (D) 25
6] AuAAUAL AHIRITIR HEUS 6 9. 1L i AvAIVAAL AYTH ASA AHIAR HEUS AL
A)6 (B) 7.5
(C) 6.5 (D) 10

BIX- MASTER | 14 [Contd.


Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


062.

063.

064.

065.

066.

067.

068.

069.

070.

In a plot with dimensions 12 m X 10 m, grass is to be grown in the interior, leaving 1 m on all the
sides and fencing is to be made bordering the plot. If the cost of groving grass is Rs. 500/- m? and
that of putting fence is Rs. 80/- m, what would be the total cost ?

(A) Rs. 42,880/- (B) Rs. 43,200/-
(C) Rs. 41,760/- (D) Rs. 43,520/-

Each TV serial of 30 minute duration has two commercial breaks of 1 minute 20 seconds and
between two consecutive serials, there is a break of 4 minutes.

Question : Find the total duration of serial content delivered in 2 hours.
(A) 98 min 40 sec (B) 97 min 20 sec
(C) 96 min (D) 95 min 40 sec

Each TV serial of 30 minute duration has two commercial breaks of 1 minute 20 seconds and
between two consecutive serials, there is a break of 4 minutes.

Question : If the cost of advertisement is Rs. 6,000/- minute, what would be the total cost incurred
in 2 hours time?

(A) Rs. 1,36,000/- (B) Rs. 1,28,000/-

(C) Rs. 1,44,000/- (D) Rs. 1,46,000/-

In a certain test, A scores 76 marks and fails by 5%. The passing percentage is 43%.

Question : Find the maximum marks of the test.

(A) 150 (B) 100

(©) 200 (D) None of these

In a certain test, A scores 76 marks and fails by 5%. The passing percentage is 43%.

Question : If another candidate B scores 7% above passing, what marks B would have scored?
(A) 150 (B)100

©) 90 D) 95

It was Friday on 2"¢ December, 1983. Find how many Mondays and Tuesdays respectively were
there in the year 1984.

(A) 52 and 53 (B)'53 and 52
(C) 52 and 52 (D) 53 and 53

A plant has five flowers initially and these flowers triple themselves daily. Find the total number of
flowers on 6" day ?

(A)1215 (B) 3645
(C) 125 (D) 729

The product of a positive number and 12 more than the number is 85.3 less than square of the
number is :

A9 ®B) 22
(K (D) 25
The geometric mean of two numbers is 6. The least possible arithmetic mean of these numbers is :
A)6 B)7.5
©) 6.5 D) 10
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071.

072.

073.

074.

075.

076.

077.

078.

079.

080.

6] AuAAUAL AHIRITIR HEUS 6 9. 1L i ALV HETH A AHIAR HEUS AL,

(A) 10 (B) 12

(©)18.5 (D) 20

A2 2uia [asewinil Byl doud sald 6. dnidll 56 Byl2 sieviei 4 4aad Risia eald 6 ?
A)2,5,6 (B)3,4,5

(€)5,12,13 (D) 3,5,2

25 Wglds vl 8- d Avairil 64 2 8. d wglds Avad ey kL.

(A) 4 (B)2

(©)8 D) 58 [Aseu il 18l

25 Hsttg ML 3L 20,000 8 FHE A0 v 31 2,200/- Ul HiA-L AHAA Al . o €2 At usimi
8% +ll AR $AHL 20 24 AN WAHE €2 9 WIS 3L 150 L AR SAUHE 2Ud dl 218l an ugdl
5& s2dl 254 cusL U2 nagll wal e suual wa ?

(A) 3L. 25,828/- (B) 3L 25,678/

(©) 31 25,978/- (D) 3L. 24,100/-

A 2uua AvaiHig)l s2¢l qvan yel aol - yel ad oid ¢ ?

64, 729, 216, 324

(A) 4 (B)2

©3 D1

2 2uue Avaiuidl 56 Aqvan 6 G xlAeuo & ?

21396, 21936 , 12369, 92316

(A) 21396 (B) 21936

(©) 12369 D) S8 [Aseu il 18l

2 2uua Avziuidl sedl Avail 12 a3 [Qeuou 8 ?

21396, 21936 , 12369, 92316

(A) 4 B)3

(©)2 D1

el Ad ANden 52 unndl Alsdnidl 215 ug wielEos Ad viaaui 2ud dl d ug swon g 21 3 -u
RiisHL Sid d-l Acnari s2dl iy ?

(A)3/26 (B) 3/13
(C) 1/4 (D) 6/13
A AU A, B 21 AUB -lL 8251 2154 20, 30 24 45 €. dl A-B Hi 521 8251 89l ?
(A) 10 (B) 25
(C) 20 D) 15
A2 2004 2l a0 ikl

L2 4

15 450 ——

=L o 13
A) — ®) 5,
C) 60 &
© @)
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071.

072.

073.

074.

07s.

076.

077.

078.

079.

080.

The geometric mean of two numbers is 6. The largest possible arithmetic mean of these numbers
is :

(A)10 (B) 12
(©)18.5 D) 20

The triplets given below represent the lengths. Identify which one represents a triangle, but not a
right angled triangle.

A)2,5,6 B)3,4,5

©)5,12,13 D)3,5,2

The cube of a natural number is 64 times the number. The cube root of the number is :
(A)4 B)2

08 (D) None of these

The rent of a house is Rs. 20,000/- excluding a maintenance of Rs. 2,200/- per month. If the rent
increases by 8% every year and the maintenance increases by Rs. 150/- every nine months, what
would be the total monthly rent (with maintenance) payable after 2.5 years ?

(A) Rs. 25,828/- (B) Rs. 25,678/-

(©) Rs. 25,978/- (D) Rs. 24,100/-

How many numbers from the following are both perfect squares and perfect cubes?
64, 729, 216, 324

(A) 4 (B) 2

O3 D)1

Which of the following numbers is not divisible by 6 ?

21396, 21936 , 12369, 92316

(A) 21396 (B) 21936

(©) 12369 (D) None

From following numbers, how many numbers is/are divisible by 12 ?
21396, 21936 , 12369, 92316

(A) 4 @3B)3

02 M) 1

A card is drawn at random from a deck of 52 cards. What is the probability that it is black in
colour and a multiple of 3 ?

(A)3/26 (B) 3/13
©)1/4 D) 6/13
Ifsets A, B and AUB have 20, 30 and 45 elements respectively, how many elements does A-B have?
(A) 10 (B) 25
©)20 D) 15
Find the sum of the following series.

) 29, 841

15 450 ——

o5 o 13
(A) — (B)
C) 60 L
© D) o
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081. o1l oisell =l Siu dal awsuiql [Aseu ure 52l
1. 20 Adi 8l 2ig2 U € U M o 515 AAs talA Geurt a6,
2. -uedflatii dorurud i ag 530 s .
3. Agarll [A:u0 urL 20 Adnl tadl gdl.
4. sl AN 25 2naus wEu wAlegau-d Guisia 9.

(A) $5d 1 211 3 12 9, (B) $5c. 2 211 3 1 9,

(C) $50.2 i1 4 12 9, D) s5a 1211 2 20 9.
082. -l 2uai og un @S axi-udl aoel (gl wlou [Ase uaie sai.

1. dasdl, vidasdl, i), allud 2. B4, oug, as2, aigoll

3. ddrl, YRUR, d-wil, EHIU 4. caudl, 51241, aldul, Hdl

(A) $5d. 1 211 2 Qi2U 8, (B) S5 3 v 4 iou 9,

(C) $51.1, 3 217 4 01U 89, (D) 1,2,3 2 44120 69,
083. -l udai o 2un ad [azgell avel (el aiou [Aseu uaie sl

1. Al x [Que 2. #1693 X Ol

3. [dsR X usR 4. adira X [Reug

(A)$5c 1,2 211 4 19U 8, (B) $5c 1 24 2 wiou 9,

(C) $5c.1, 3 217 4 1Y 89, (D) $5d. 1 217 4 Q12U 8,
084. 1A 2uden 3(euuio A d- 2 W2 Uy [Asey urie s

3Ruula uY

1 sl dar — ez dlal

2. Bl U2 sl — ¢ Guid oug

3. ol Wi glai — afds 3 garell 8ig

4. ol Avg sdal — Mame sdl

(A) $5c.1, 2 217 4 01U 89, (B) $5d. 2 24 3 Uiou 9,

(©))s51. 2, 3 217 4 1Y B, (D) 1,2, 3 21 4 6181 % UIdU 69,
085. 1A 2uudl s8adiq tuA A d- [agl uicu [Aseu vrig s:l.

1. well udai wa tindl 2. Addl "R ueL Yell

3. siell siedl 53 4. 1 SIBL o1 WR3IA

(A) 3 21 4 a-udl s18adl 99, 1 241 2 [zl s8adi .
B)/1 21 2 uxruel s8adl 8, 2 214 4 [A3gell s8adl .
(C) 1 21 4 -l s8adl 9, 2 1 3 [A3 gl s8ad ¢,
(D) 1 241 3 Al udadi 89, 1 244 4 [A3g1ell s8adl .
086. -l 2udel AlAs A6 A d-i usi- ol (A9l ulou [Aseu uadg s
1. g AHA = Asdl, slasigy, sanus, Glseiu
2. Guue uHIA = QML sousty, olleisin, Glstiu
3. oigell® AU = Yuss—il, usLong, Aoold, xuqeds
4. sMHIRY = Gulles, AN, 4Hoy(g, alar
(A)$5c 1,3 211 4 1Y 8, (B) $5d.2, 3 211 4 Q12U 89,
(C) $5c. 1,2 211 3 1Y 89, (D) 1,2, 3 21 4 6181 % iU 69,
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087. 11 2uucl QA (A9l wiou [Aseu wrig sai.

1. 4 + 898 = AAIE

2. u + dld = ddla

3. un +als = uyls

4. [: + a3a = [d3a

(A) $5d 1 211 2 120 9, (B)'S5d 1 21 3 120 9.

(C) 1,2, 3 2 4 6181 % 1L 69, (D) 1,2, 3 21 4 ol o viiaL 69,
088. 11 2uucl sieu-ulsan e A idL e9e-L UL A1y [A5eu ue s,

1. RR tugdi suual sl
ogetefl 24 8 a2l dl.’

2. ‘[Rgmidl e dl Aiud 8,

w1 12 oL A %3 8.
3. ‘e 3 w0 58 ¢4,

AAH Ml ygeua 43l
4. ‘ag vuy Uiy aeu ¢io Slu,

gl a8 Ddl €3 dlan.’
(A) 1. o, 2. alad, 3. wlad, 4. Sadaun
(B) 1. Bgdan, 2. qoll, 3. aldq, 4. wla-d
(©) 1. ulad), 2. Hadau, 3.l 4. alad
M) 1. alaq, 2. wla-dl, 3. ada, 4. el

089. 1A 2nwiai Gerent LU A il AASIRU USR WS U1y [d5ey ue s,

1. u-i uy 2lam, Ad Ram-is,
UEL REUML HIRL, [A8RA L %3g 913

2. 51yel udl d % ad),
d udl Siyelu diqaia-

3. sul v YA dell dat, vew vi HH oyl suil ?
4. o) A ofdl ellw 69,
(A) 1. aaudm, 2. 6uw, 3. @ldls, 4. aaijpua
(B) 1. =y, 2. Buml, 3. uwgld, 4. ulds
(©)1. vy, 2. Guaaiuw, 3. [aww, 4. «aldls
(D) 1. AR, 2.3us, 3. Alds, 4. aaigu
090. DA [dordin Lun @S 1l [Aseu g s2i.
1. gy + R =g
2. AW — (g9 uxun
3. a3 wu A dlua gl pd el — RalRw
4. vl eRus AR 2u 2 508 dudl, Adl Ud R — wAAisull A1ds1R
(A)s5d 1 211 4 120 9. (B) $5d. 1,2 %1 3 12 8,
(C) $50.2 A 4 1 9, (D) 55d 4 WY 9.
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091. The hunter aimed the bird.
(A) to (B) at
(©) on (D) over
092. I enjoyed during my stay in England. (Spot the error)
(A) I enjoyed (B) during my
(C) stay in (D) England
093. You express very imperfectly (yours, you, yourself)
(A) yours (B) you
(C) yourself (D) None
094. I swim across the river when I was young.
(A) may (B) could
(C) was (D) can
095. The teacher said, “I am very busy now.” (Turn into indirect speech)
(A) The teacher said I am very busy now.
(B) The teacher said that he was very busy then.
(C) The teacher said that I am very busy now.
(D) The teacher said that he is very busy now.
096. My father was honest man. (Fill in the blank with appropriate article)
(A)a (B) an
(C) the (D) that
097. He showed much patience. (Underline the adjuctive in the sentence)
(A) he (B) showed
(C) much (D) patience
098. My friend stayed at Delhi fifteen years.
(A) since (B) for
(O) from (D) in
099. He is a stupid with knowledge about the subject.
(A) a little (B) little
(C) few (D) a few
100. Do you have relative staying at Mumbai ?
(A) many (B) any
(O) little (D) a little
BIX - MASTER | 20 [Contd.
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101.

102.

103.

104.

10S.

106.

107.

108.

Which of Erik Erikson's psychosocial stages focuses on the challenge of balancing a sense of
competence with feelings of inferiority?

(A) Initiative vs. Guilt (B) Industry vs. Inferiority
(C) Identity vs. Role Confusion (D) Integrity vs. Despair

In Bowlby’s attachment theory, which type of attachment is characterized by children who seem
indifferent to their caregiver’s presence or absence?

(A) Secure Attachment (B) Anxious-Ambivalent Attachment
(C) Avoidant Attachment (D) Disorganized Attachment
Cultural competence in therapy primarily involves:

(A) Applying a universal set of therapeutic techniques.

(B) Understanding and integrating the client’s cultural background into treatment.
(C) Ignoring cultural differences to focus on common psychological principles.

(D) Using standardized interventions regardless of cultural context.

Social identity theory posits that in-group favoritism occurs because:

(A) Individuals seek to improve their self-esteem through affiliation with successful groups.
(B) Groups are inherently hostile towards out-group members.

(C) Individuals are motivated solely by economic gain.

(D) Social interactions are based purely on random factors.

Role strain occurs when:

(A) An individual’s roles are completely aligned with their personal values.

(B) There is a conflict between multiple roles an individual is expected to fulfill.
(O) An individual excels in all of their social roles without difficulty.

(D) One role is overly simplistic and does not challenge the individual.

The impact of socioeconomic status on cognitive development is most evident in:
(A) Differences in educational resources and opportunities.

(B) Genetic predispositions to intelligence.

(C) Uniform access to high-quality early childhood education.

(D) Equal availability of cognitive stimulation across all socioeconomic groups.
The effect of social media on adolescent self-esteem is primarily associated with:
(A) Increased opportunities for real-life social interactions.

(B) Enhanced face-to-face communication skills.

(€) Greater exposure to social comparison and validation seeking.

(D) Reduced influence of peer feedback.

Lawrence Kohlberg’s theory of moral development suggests that moral reasoning progresses
through:

(A) Fixed, predetermined stages with no influence from external factors.
(B) Stages based on universal principles of justice and individual rights.
(C) A single stage focused on obedience to authority.

(D) An arbitrary sequence of ethical decision-making without developmental stages.
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Which of the following is a core feature distinguishing bipolar I disorder from bipolar II disorder?
(A) Presence of hypomanic episodes (B) Presence of manic episodes

(C) Presence of depressive episodes (D) Duration of mood episodes

Which neurotransmitter is most closely associated with the pathology of major depressive disorder?
(A) Dopamine (B) Norepinephrine

(C) Serotonin (D) GABA

In borderline personality disorder, which of the following is NOT a typical symptom?

(A) Intense, unstable interpersonal relationships

(B) Chronic feelings of emptiness

(C) Excessive attention-seeking behavior

(D) Impulsive and self-destructive behaviors

Which of the following is a key feature of post-traumatic stress disorder (PTSD) as opposed to
acute stress disorder?

(A) Duration of symptoms for more than 1 month

(B) Presence of dissociative symptoms

(C) Presence of intrusive memories

(D) Occurrence of symptoms within 3 days to 1 month after exposure to trauma
The condition known as 'factitious disorder imposed on self' is characterized by:
(A) Deliberate fabrication of symptoms to obtain external incentives.

(B) Intentionally faking symptoms for external gain.

(©) Voluntarily producing symptoms without apparent external rewards.

(D) Severe anxiety about having a serious illness despite medical reassurance.

Which personality disorder is characterized by a pervasive pattern of detachment from social
relationships and a restricted range of emotional expression?

(A) Schizoid Personality Disorder (B) Narcissistic Personality Disorder
(C) Histrionic Personality Disorder (D) Antisocial Personality Disorder

In obsessive-compulsive disorder (OCD), which of the following best describes the nature of
compulsions?

(A) Persistent thoughts that cause significant anxiety

(B) Recurrent, intrusive thoughts or urges

(C) Repetitive behaviors or mental acts performed to reduce anxiety

(D) Periods of intense fear or discomfort that arise suddenly

Which of the following is NOT a criterion for diagnosing anorexia nervosa?
(A) Persistent restriction of energy intake

(B) Intense fear of gaining weight

(C) Excessive exercise and dietary supplementation

(D) Disturbance in the way one’s body weight or shape is experienced
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Which psychotic disorder is characterized by the presence of hallucinations, delusions, and
disorganized speech but lasts for less than 1 month?

(A) Brief Psychotic Disorder (B) Schizophreniform Disorder
(C) Schizophrenia (D) Delusional Disorder

Which of the following brain structures is most directly involved in the regulation of emotions and
is considered part of the limbic system?

(A) Cerebellum (B) Hippocampus
(C) Thalamus (D) Medulla Oblongata

The "fight or flight" response is primarily mediated by which part of the autonomic nervous
system?

(A) Parasympathetic Nervous System (B) Sympathetic Nervous System
(C) Central Nervous System (D) Enteric Nervous System

Which neurotransmitter is primarily associated with mood regulation and is often implicated in
major depressive disorder?

(A) Dopamine (B) Acetylcholine

(C) Norepinephrine (D) Serotonin

What is the primary role of the basal ganglia in motor control?

(A) Initiating voluntary movements (B) Coordination and fine motor control
(C) Processing sensory information (D) Regulating circadian rhythms

The concept of "neuroplasticity' refers to:

(A) The ability of neurons to produce neurotransmitters.

(B) The brain's capacity to reorganize and form new neural connections.

(C) The hard-wired pathways in the central nervous system.

(D) The fixed nature of brain structures and their functions.

Which part of the brain is crucial for forming new long-term memories and is involved in spatial
navigation?

(A) Amygdala (B) Cerebellum

(C) Hippocampus (D) Corpus Callosum

Which type of glial cell is responsible for myelinating neurons in the central nervous system?
(A) Schwann Cells (B) Oligodendrocytes

(C) Astrocytes (D) Microglia

The phenomenon where damage to one part of the brain leads to the functional compensation by
other parts is known as:

(A) Lateralization (B) Brain Localization

(C) Functional Reorganization (D) Hemispheric Specialization
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Which of the following best describes the '"neurodevelopmental hypothesis" of schizophrenia?
(A) Schizophrenia results from an imbalance of neurotransmitters in adulthood.

(B) Schizophrenia is caused by early brain development disruptions leading to later onset psychotic
symptoms.

(C) Schizophrenia is primarily due to psychosocial stressors encountered in late adolescence.

(D) Schizophrenia develops from a combination of environmental toxins and genetic predispositions
in adulthood.

In the context of bipolar disorder, what distinguishes a mixed episode from a manic episode?
(A) Presence of depressive symptoms alongside manic symptoms

(B) Duration of mood symptoms exceeding 2 weeks

(C) Exclusively elevated mood without any depressive symptoms

(D) Absence of psychotic features

Which of the following is a key feature of obsessive-compulsive disorder (OCD) that differentiates
it from obsessive-compulsive personality disorder (OCPD)?

(A) Preoccupation with orderliness and control

(B) Presence of compulsive behaviors performed to alleviate distress

(C) Persistent thoughts and fears that are not typically relieved by ritualistic behavior
(D) Extreme perfectionism and rigidity in personality traits

What is the primary goal of cognitive-behavioral therapy (CBT) in treating major depressive
disorder?

(A) To explore unconscious conflicts and past experiences

(B) To modify dysfunctional thought patterns and behaviors
(C) To improve social skills and interpersonal relationships
(D) To address neurobiological imbalances through medication

In the management of borderline personality disorder, which therapeutic approach has been shown
to be particularly effective?

(A) Electroconvulsive Therapy (ECT) (B) Dialectical Behavior Therapy (DBT)
(C) Psychodynamic Therapy (D) Interpersonal Therapy (IPT)

Which psychotropic medication class is associated with the risk of tardive dyskinesia, particularly
with long-term use?

(A) Atypical antipsychotics

(B) Selective serotonin reuptake inhibitors (SSRIs)
(©) First-generation (typical) antipsychotics

(D) Benzodiazepines

Which of the following best describes the "delusion of reference" in the context of psychotic
disorders?

(A) The belief that one’s thoughts are being broadcast to others
(B) The belief that common elements of the environment are directly related to oneself
(C) The belief that one has special powers or is on a special mission

(D) The belief that one is being persecuted or harassed by others
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Which disorder is characterized by recurrent, severe episodes of mood swings that include both
manic and depressive states, but the mood swings are not as extreme as those seen in bipolar
disorder?

(A) Cyclothymic Disorder (B) Persistent Depressive Disorder
(C) Major Depressive Disorder (D) Schizoaffective Disorder

Which of the following therapeutic approaches emphasizes the use of "inter-subjective dialogue'
to understand and address client issues?

(A) Cognitive Behavioral Therapy (CBT) (B) Person-Centered Therapy
(C) Psychodynamic Therapy (D) Gestalt Therapy

Which term describes the phenomenon where a client unconsciously projects feelings or experiences
related to significant others in their life onto the therapist?

(A) Countertransference (B) Transference
(C) Projective identification (D) Working alliance

Which of the following is a key element of '"mindfulness-based cognitive therapy" (MBCT) that
differentiates it from traditional cognitive behavioral therapy?

(A) Emphasis on correcting cognitive distortions

(B) Focus on enhancing self-awareness and present-moment experience
(C) Use of behavioral experiments to test beliefs

(D) Exploration of early childhood experiences

Which concept in Family Systems Theory refers to the way family members' roles and relationships
become rigid and dysfunctional under stress?

(A) Homeostasis (B) Enmeshment
(C) Differentiation of Self (D) Triangulation

In Person-Centered Therapy, what is considered the most crucial therapeutic factor for promoting
client change?

(A) The therapist’s use of specific techniques

(B) The therapeutic relationship characterized by empathy, congruence, and unconditional positive
regard

(C) The therapist’s directiveness and guidance
(D) The application of cognitive restructuring techniques

Which type of therapy involves the use of “exposure tasks” to help clients gradually confront and
overcome their fears and anxieties?

(A) Cognitive Behavioral Therapy (CBT)
(B) Psychodynamic Therapy

(C) Solution-Focused Brief Therapy (SFBT)
(D) Narrative Therapy

In Dialectical Behavior Therapy (DBT), which component focuses on teaching clients how to handle
intense emotions without becoming overwhelmed?

(A) Mindfulness (B) Interpersonal Effectiveness
(C) Emotion Regulation (D) Distress Tolerance
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In the context of Cognitive Behavioral Therapy (CBT), what is the primary purpose of '"behavioral
experiments'?

(A) To explore the client's past traumatic experiences

(B) To test and challenge the validity of the client’s beliefs and assumptions

(C) To increase the client's self-awareness through mindfulness practices

(D) To establish a therapeutic alliance with the client

In Dialectical Behavior Therapy (DBT), what is the primary focus of the “Mindfulness” module?
(A) Teaching clients how to tolerate emotional distress

(B) Helping clients improve their interpersonal relationships

(C) Increasing clients' awareness of their thoughts, emotions, and present-moment experiences
(D) Reducing clients' cognitive distortions through cognitive restructuring

Which of the following therapeutic techniques is primarily used in Narrative Therapy to help
clients reconstruct their life stories and understand their issues within a broader context?

(A) Externalization (B) Cognitive Restructuring
(C) Behavioral Activation (D) Systematic Desensitization

Which of the following is the primary mechanism through which cognitive- behavioral interventions
help in managing chronic pain?

(A) By increasing medication adherence

(B) By reducing the physiological sensitivity to pain

(C) By altering maladaptive thoughts and behaviors associated with pain
(D) By directly altering pain pathways in the nervous system

In the context of behavioral medicine, which of the following is NOT typically considered a
component of lifestyle interventions for managing hypertension?

(A) Dietary modifications (B) Regular physical exercise
(C) Stress management techniques (D) Medication adherence

Which behavioral medicine approach focuses on helping patients with diabetes manage their
condition by setting specific, measurable, and time-bound goals?

(A) Motivational Interviewing (B) Cognitive Behavioral Therapy (CBT)

(€) Goal-Setting Theory (D) Acceptance and Commitment Therapy (ACT)
Which of the following best describes the '"biopsychosocial model" in behavioral medicine?

(A) A model that focuses solely on the biological aspects of disease.

(B) A model that integrates biological, psychological, and social factors in understanding health
and illness.

(C) A model that emphasizes the social and environmental factors influencing health.
(D) A model that only considers psychological factors in the management of chronic conditions.

Which term describes the process of using real-time feedback to help individuals gain control over
physiological processes such as heart rate and muscle tension?

(A) Biofeedback (B) Relaxation Training
(C) Cognitive Restructuring (D) Mindfulness
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Which of the following strategies is most effective in helping individuals with chronic illness adhere
to medical regimens and lifestyle changes?

(A) Providing extensive medical information without behavioral support

(B) Utilizing motivational interviewing to explore and resolve ambivalence

(C) Applying strict behavioral contracts with penalties for non-compliance

(D) Relying solely on pharmacological treatments without addressing behavioral factors

Under the Mental Healthcare Act, 2017, which of the following is NOT considered a fundamental
right for individuals with mental illness?

(A) Right to access mental healthcare services

(B) Right to be treated with dignity and respect

(C) Right to refuse treatment without any medical assessment
(D) Right to confidentiality and privacy

The National Mental Health Policy, 2014, in India emphasizes which of the following as a key
approach to improving mental health care?

(A) Promoting psychiatric hospital-based treatment over community-based care
(B) Integrating mental health services into primary health care settings

(O) Restricting mental health services to urban areas only

(D) Limiting mental health services to government-run facilities only

Which Indian body is responsible for the oversight and implementation of mental health policies
and legislation, including setting standards for mental health care?

(A) Ministry of Health and Family Welfare

(B) National Human Rights Commission (NHRC)
(C) Central Board of Secondary Education (CBSE)
(D) Reserve Bank of India (RBI)

Which Indian act specifically addresses the need for mental health services to be included in insurance
coverage?

(A) The Insurance Regulatory and Development Authority Act, 1999

(B) The Mental Healthcare Act, 2017

(C) The Health Insurance Act, 2010

(D) The Right to Health Act, 2015

Which assessment tool is widely used in India for the diagnosis of intellectual disabilities in children?
(A) Wechsler Intelligence Scale for Children (WISC)

(B) Stanford-Binet Intelligence Scales

(C) Binet-Kamat Test of Intelligence

(D) Raven's Progressive Matrices
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Which Indian psychological assessment tool is specifically designed to evaluate cultural and
community-specific aspects of mental health?

(A) Indian Adaptation of the Beck Depression Inventory (BDI)
(B) General Health Questionnaire (GHQ)

(C) Cultural Intelligence Scale

(D) Indian Scale for Assessment of Mental Illness (ISAMI)

Which test is used in India for the assessment of cognitive and neuropsychological functions in
individuals with suspected brain damage?

(A) Bender Visual Motor Gestalt Test

(B) Halstead-Reitan Neuropsychological Battery
(C) Wechsler Adult Intelligence Scale (WAIS)
(D) Wisconsin Card Sorting Test

The Indian version of which psychological assessment is commonly used to evaluate anxiety disorders
in adults?

(A) Hamilton Anxiety Rating Scale (HAM-A)
(B) State-Trait Anxiety Inventory (STAI)
(O) General Anxiety Disorder 7 (GAD-7)
(D) Anxiety and Depression Scale (ADS)

Which assessment tool is specifically used for evaluating the developmental milestones and
behavioral issues in Indian children?

(A) Vineland Adaptive Behavior Scales

(B) Denver Developmental Screening Test

(C) Bayley Scales of Infant and Toddler Development
(D) Child Behavior Checklist (CBCL)

Which Indian psychological assessment tool is tailored for evaluating the coping strategies of
individuals dealing with chronic illness?

(A) Coping Strategies Inventory (B) Chronic Illness Coping Scale
(C) Brief COPE Inventory (D) Indian Coping Styles Questionnaire

In India, which scale is utilized to assess the quality of life in individuals with chronic mental health
conditions?

(A) World Health Organization Quality of Life Scale (WHOQOL)
(B) Quality of Life Inventory (QOLI)

(C) Short Form Health Survey (SF-36)

(D) Indian Quality of Life Questionnaire

Which tool is widely used in India for assessing the presence and severity of obsessive-compulsive
symptoms?

(A) Yale-Brown Obsessive Compulsive Scale (Y-BOCS)
(B) Obsessive Compulsive Inventory (OCI)

(C) Hamilton Rating Scale for Anxiety (HAM-A)

(D) Padua Inventory
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In recent years, which digital health tool has gained prominence for providing accessible mental
health support through mobile applications?

(A) Digital Cognitive Behavioral Therapy (dCBT)
(B) Telepsychiatry

(C) eHealth Counseling Platforms

(D) Virtual Reality Interventions

Which recent trend in clinical psychology involves the use of machine learning algorithms to predict
treatment outcomes based on patient data?

(A) Predictive Analytics in Therapy (B) Automated Diagnosis Systems
(C) Data-Driven Psychotherapy (D) Clinical Decision Support Systems (CDSS)

Which therapeutic approach has recently gained traction for its focus on enhancing emotional and
psychological resilience through neuroplasticity?

(A) Neurofeedback Therapy

(B) Brainspotting Therapy

(C) Integrative Body-Mind Training (IBMT)
(D) Somatic Experiencing Therapy

Which recent advancement in clinical psychology emphasizes the role of genetic predisposition in
the development and treatment of mental health disorders?

(A) Genomic Psychiatry

(B) Genetic Cognitive Behavioral Therapy (gCBT)
(C) Epigenetic Psychotherapy

(D) Personalized Genetic Counseling

The development of which of the following has led to a more personalized approach in the treatment
of eating disorders?

(A) Personalized Nutritional Counseling

(B) Metabolic Syndrome-Based Treatment Plans
(C) Genotype-Specific Dietary Interventions

(D) Digital Food Diaries and Monitoring Tools

Which new approach in clinical psychology focuses on integrating evidence-based practices with
cultural sensitivity to improve therapeutic outcomes?

(A) Culturally Adapted Therapy (B) Multicultural Cognitive Behavioral Therapy
(C) Cultural Competence in Therapy (D) Indigenous-Based Psychotherapy

Which recent innovation aims to enhance the therapeutic alliance by incorporating virtual reality
into remote therapy sessions?

(A) VR-Assisted Teletherapy (B) Immersive Online Therapy

(C) Virtual Counseling Platforms (D) Augmented Reality Psychotherapy
The concept of “self-actualization” was introduced by which psychologist?

(A) Abraham Maslow (B) Carl Rogers

(C) Jean Piaget (D) Lev Vygotsky
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In the context of Maslow’s hierarchy of needs, which need is considered the highest?
(A) Safety (B) Belongingness and Love

(C) Self-Esteem (D) Self-Actualization

Lev Vygotsky’s concept of the “zone of proximal development” refers to:

(A) The gap between what a child can do independently and what they can do with assistance
(B) The distance between a child’s cognitive abilities and their physical development
(C) The space between a child’s self-concept and their social interactions

(D) The range of emotions a child can experience at a given stage of development
According to Bandura’s social learning theory, people learn behaviors:

(A) Only through direct experience (B) Only through classical conditioning
(C) By observing and imitating others (D) Through reinforcement alone

What is the term for a behavior that is influenced by a social context and the perception of others?

(A) Reflexive Behavior (B) Socially Learned Behavior
(C) Automatic Behavior (D) Operant Behavior

Which of the following is NOT one of the Big Five personality traits?

(A) Openness (B) Conscientiousness

(C) Emotional Stability (D) Aggressiveness

Cognitive Dissonance Theory was developed by:

(A) Leon Festinger (B) Albert Bandura

(C) B.F. Skinner (D) Carl Rogers

According to Carl Rogers, which term describes the acceptance and support of a person regardless
of what they say or do?

(A) Conditional Positive Regard (B) Unconditional Positive Regard
(O) Self-Actualization (D) Ideal Self

Which approach focuses on understanding individuals' internal experiences and self-perceptions
to improve their well-being?

(A) Behavioral Approach (B) Cognitive Approach

(€) Humanistic Approach (D) Psychodynamic Approach

The concept of “cognitive bias” refers to:

(A) The inability to perceive information objectively due to personal beliefs and preferences
(B) The development of cognitive abilities through formal education

(C) The biological factors that influence cognitive development

(D) The capacity for reasoning and problem-solving

Which of the following is NOT a symptom of Bipolar I Disorder?

(A) Manic episodes (B) Hypomanic episodes

(C) Depressive episodes (D) Persistent anxiety

A person with which disorder might exhibit excessive, uncontrollable worry about a variety of
topics for at least six months?

(A) Social Anxiety Disorder (B) Generalized Anxiety Disorder
(C) Panic Disorder (D) Specific Phobia
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The "positive symptoms" of schizophrenia include:

(A) Affective flattening (B) Anhedonia

(C) Hallucinations (D) Social withdrawal
The term "delirium" refers to:

(A) A chronic state of mood disturbance

(B) An acute confusional state with fluctuating levels of consciousness
(C) Persistent hallucinations without a clear cause

(D) A pattern of pervasive, maladaptive behaviors

Under the Mental Healthcare Act, 2017, who is responsible for the formulation and implementation
of mental health policies at the state level?

(A) The Chief Minister of the state (B) The State Mental Health Authority
(C) The District Magistrate (D) The Mental Health Review Board

Which of the following traits is most associated with the ""Openness to Experience" dimension in
the Big Five personality model?

(A) Conventionality and routine-oriented behavior.

(B) Sociability and talkativeness.

(©) Creativity and a preference for variety.

(D) Dependability and reliability.

What is the primary goal of supportive therapy?

(A) To challenge and change maladaptive thought patterns

(B) To provide emotional support and reinforce coping mechanisms
(C) To explore unconscious conflicts and motivations

(D) To teach specific behavioral skills

Which of the following aspects does the Rorschach inkblot test primarily analyze?
(A) Projective responses to ambiguous stimuli

(B) Verbal reasoning skills

(C) Neurocognitive deficits

(D) Behavioral patterns in structured situations

The process by which people come to understand themselves and their world through social
interactions is known as:

(A) Social Learning (B) Self-Concept Formation
(O) Social Identity Theory (D) Personality Development
What is the primary focus of Brain Function Therapy (BFT)?

(A) Enhancing physical fitness

(B) Improving cognitive function and brain health

(C) Addressing emotional disorders through talk therapy

(D) Diagnosing neurological diseases
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What is the primary goal of Motivational Enhancement Therapy (MET)?

(A) To teach specific coping skills

(B) To analyze past behavioral patterns

(C©) To increase intrinsic motivation for change

(D) To prescribe medication for substance use disorders

In psychological assessment, what does " construct validity' assess?

(A) The extent to which a test measures a theoretical construct or concept

(B) The consistency of the test scores over time

(C) The ability of a test to differentiate between individuals with and without a condition
(D) The accuracy of the test scores in predicting real-world outcomes

Which of the following is a common symptom of Narcissistic Personality Disorder?
(A) Excessive need for admiration and lack of empathy

(B) Persistent feelings of inadequacy and hypersensitivity

(C) Extreme fear of social situations

(D) Intense emotional instability

Which assessment method involves the patient telling a story based on ambiguous stimuli?
(A) Structured Interview (B) Objective Personality Test

(©) Projective Test (D) Neuropsychological Test

What is the primary characteristic of a psychotic disorder?

(A) Intense fear and anxiety

(B) Distorted thoughts and perceptions, such as hallucinations and delusions

(C) Severe mood swings

(D) Inability to form stable relationships

The neurotransmitter dopamine is most commonly associated with which of the following functions?

(A) Sleep regulation (B) Mood and reward processing
(C) Memory formation (D) Pain perception

The process by which a neuron is activated to send an electrical signal is known as:
(A) Synaptic transmission (B) Action potential

(C) Neurogenesis (D) Neuroplasticity

The outer layer of the brain, responsible for higher-level cognitive functions such as thinking and
decision-making, is known as:

(A) The Limbic System (B) The Brainstem
(C) The Cortex (D) The Cerebellum

The "reward system' in the brain, which is involved in pleasure and reinforcement, primarily
includes which structure?

(A) Thalamus (B) Ventral Tegmental Area (VTA)
(C) Corpus Callosum (D) Pineal Gland
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The "Executive Functions' are primarily associated with which brain region?

(A) Temporal Lobe (B) Frontal Lobe

(C) Occipital Lobe (D) Parietal Lobe

In neuropsychology, "prosopagnosia" refers to:

(A) Difficulty recognizing faces (B) Impairment in understanding language
(O) Difficulty with movement coordination (D) Loss of memory for recent events

Which therapeutic approach is primarily based on the idea that thoughts, feelings, and behaviors
are interconnected and that changing negative thought patterns can improve emotional well-being?

(A) Psychodynamic Therapy (B) Cognitive-Behavioral Therapy (CBT)
(C) Humanistic Therapy (D) Exposure Therapy

Which of the following represents a current trend in clinical psychology related to the use of
artificial intelligence (AI)?

(A) Al-driven diagnostic tools and predictive algorithms for mental health conditions
(B) AI-powered self-help books for mental health issues

(C) Al-based therapy robots that replace human therapists

(D) Al-assisted relaxation techniques for stress management

The use of “Trauma-Informed Care” is a growing trend in clinical psychology. What does this
approach primarily involve?

(A) Providing specialized trauma therapy exclusively

(B) Understanding and addressing the impact of trauma on an individual’s life and integrating this
understanding into all aspects of treatment

(C) Focusing solely on acute trauma responses

(D) Implementing trauma-specific assessments only

What is the primary focus of “Ecotherapy” as a current trend in clinical psychology?
(A) Integrating physical exercise into therapy

(B) Using nature-based interventions to improve mental health

(C) Applying cognitive-behavioral techniques to ecological problems

(D) Utilizing virtual reality to simulate natural environments

Which recent advancement in clinical psychology emphasizes the use of data from wearable devices
to monitor and manage mental health?

(A) Mobile Health (mHealth) Applications (B) Virtual Reality Interventions
(C) Interactive Web-Based Therapy (D) Psychoeducation Programs

In which therapy does the counselor help clients become aware of their feelings and take
responsibility for their actions, often using techniques like active listening and reflection?

(A) Humanistic Therapy

(B) Cognitive-Behavioral Therapy (CBT)

(O) Rational Emotive Behavior Therapy (REBT)
(D) Solution-Focused Therapy
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In Rational Emotive Behavior Therapy (REBT), what is the ""ABC" model used to describe?
(A) The stages of grief

(B) The process of cognitive restructuring

(C) The sequence of events that lead to emotional disturbances

(D) The therapeutic relationship components

In which therapy model do clients create a narrative or story about their lives, and the therapist
helps them reframe and reinterpret these narratives to find meaning and solutions?

(A) Narrative Therapy (B) Psychodynamic Therapy

(C) Person-Centered Therapy (D) Cognitive-Behavioral Therapy (CBT)
In person-centered therapy, what role does the therapist play?

(A) An expert who directs the therapeutic process

(B) A neutral observer who does not provide feedback

(©) A facilitator who provides empathetic understanding and support

(D) An evaluator who assesses the client's progress

Which of the following techniques is NOT typically used in cognitive- behavioral therapy (CBT)?
(A) Thought records (B) Free association

(C) Behavioral experiments (D) Cognitive restructuring

What is the main goal of exposure therapy?

(A) To help clients explore and understand their past experiences

(B) To gradually reduce fear and avoidance behaviors by exposing clients to feared stimuli
(C) To challenge irrational beliefs and replace them with rational ones

(D) To enhance self-awareness through emotional exploration

In dialectical behavior therapy (DBT), which component is designed to help clients tolerate distress
and manage emotional crises?

(A) Mindfulness (B) Emotion Regulation
(C) Distress Tolerance (D) Interpersonal Effectiveness

Which therapeutic approach is known for using the technique of "empty chair" to help clients
address unfinished business and internal conflicts?

(A) Gestalt Therapy (B) Cognitive-Behavioral Therapy (CBT)
(C) Person-Centered Therapy (D) Rational Emotive Behavior Therapy (REBT)
Behavioral medicine primarily focuses on the interaction between:

(A) Cognitive processes and academic performance

(B) Biological factors and environmental stressors

(C©) Psychological factors and physical health

(D) Social support and interpersonal relationships

Which of the following is a common goal of behavioral medicine interventions?

(A) To improve medication adherence

(B) To modify health behaviors and manage chronic conditions

(C) To diagnose mental health disorders

(D) To enhance cognitive functioning
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In the context of stress management, which technique involves focusing on the present moment
and accepting one's thoughts and feelings without judgment?

(A) Progressive Muscle Relaxation (B) Biofeedback
(C) Mindfulness Meditation (D) Cognitive Restructuring

Which of the following methods is commonly used to help individuals monitor and control
physiological functions such as heart rate and muscle tension?

(A) Cognitive Behavioral Therapy (B) Biofeedback
(C) Hypnosis (D) Motivational Interviewing

Which theory suggests that individuals are motivated to take health-related actions based on their
perceived susceptibility, severity, benefits, and barriers?

(A) Theory of Planned Behavior (B) Health Belief Model
(CO) Social Cognitive Theory (D) Transtheoretical Model

In the Transtheoretical Model of behavior change, what stage is characterized by individuals who
are actively making changes to their behavior?

(A) Precontemplation (B) Contemplation
(C) Preparation (D) Action

Which chronic condition is commonly managed using behavioral medicine techniques such as
relaxation training and stress management?

(A) Diabetes (B) Asthma

(C) Cardiovascular Disease (D) All of the above

In cognitive-behavioral interventions for chronic pain, what is the goal of cognitive restructuring?
(A) To change maladaptive thoughts and beliefs about pain

(B) To increase physical activity levels

(C) To enhance relaxation techniques

(D) To improve sleep hygiene

Which of the following best describes 'self-management" in the context of chronic illness?
(A) The use of medication to control symptoms

(B) The ability to manage one's own health and treatment plan

(C) The passive acceptance of illness and its consequences

(D) The reliance on healthcare professionals for treatment decisions

Which behavior change technique involves setting specific, measurable, achievable, relevant, and
time-bound goals?

(A) Motivational Interviewing .SMART Goals

(C) Action Planning (D) Behavioral Activation

In the context of behavioral medicine, "stress inoculation training" is used to:

(A) Increase tolerance to stress through gradual exposure and coping skills training
(B) Reduce stress by eliminating stressors from one's life

(C) Teach relaxation techniques to manage acute stress

(D) Avoid stressful situations through avoidance strategies
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Which concept refers to the ability to bounce back from stress and adversity, often enhanced by
strong social support and effective coping strategies?

(A) Resilience (B) Stress Tolerance
(C) Emotional Intelligence (D) Self-Efficacy

Which behavioral technique is used to help individuals change unhealthy eating patterns by
identifying and altering cues and rewards associated with eating?

(A) Cognitive-Behavioral Therapy (B) Habit Reversal Training

(C) Contingency Management (D) Motivational Interviewing

Which of the following is a primary focus of health behavior interventions in behavioral medicine?
(A) Increasing physical activity (B) Improving medication adherence

(C) Reducing alcohol consumption (D) All of the above

Which approach emphasizes the role of social learning in behavior change, particularly through
modeling and reinforcement?

(A) Social Cognitive Theory (B) Health Belief Model

(C) Theory of Planned Behavior (D) Transtheoretical Model

Which part of the brain is primarily responsible for coordinating voluntary movements and balance?
(A) Hippocampus (B) Thalamus

(C) Cerebellum (D) Amygdala

Which of the following hormones is released by the adrenal glands and is involved in the stress
response?

(A) Insulin (B) Cortisol
(C) Melatonin (D) Oxytocin

Which condition is characterized by a person having difficulty with spatial awareness and navigation
due to damage to the parietal lobe?

(A) Apraxia (B) Agnosia

(C) Hemispatial Neglect (D) Dyslexia

According to social role theory, gender differences in behavior are primarily due to:

(A) Biological differences (B) Social and cultural expectations

(C) Cognitive development (D) Psychoanalytic conflicts

Post-Traumatic Stress Disorder (PTSD) is often associated with:

(A) Delusions and hallucinations (B) Recurrent and distressing flashbacks

(C) Chronic paranoia (D) Excessive worry about multiple aspects of life

Which of the following best describes “derealization”?

(A) Feeling detached from one’s own body

(B) Feeling as though the external world is unreal or distorted

(C) Experiencing episodes of intense fear with physical symptoms

(D) Persistent and intrusive thoughts about contamination

The “cognitive triad” in depression refers to negative views of:

(A) Self, world, and future (B) Self, others, and life events

(C) Past, present, and future (D) Reality, imagination, and perception
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The “fight or flight” response is primarily regulated by which part of the nervous system?

(A) Central Nervous System (CNS) (B) Peripheral Nervous System (PNS)

(C) Sympathetic Nervous System (D) Parasympathetic Nervous System

Which brain structure is involved in regulating basic life functions such as heart rate and breathing?
(A) Amygdala (B) Pons

(C) Thalamus (D) Medulla Oblongata

Which neuro-imaging technique provides detailed images of brain activity by measuring changes
in blood flow?

(A) Electroencephalogram (EEG)

(B) Computed Tomography (CT)

(C) Magnetic Resonance Imaging (MRI)

(D) Functional Magnetic Resonance Imaging (fMRI)

The "split-brain" condition is most commonly associated with damage or surgical intervention to
which structure?

(A) Corpus Callosum (B) Cerebellum
(C) Hippocampus (D) Thalamus

In the DSM-5, which disorder is characterized by a pattern of disregard for, and violation of, the
rights of others?

(A) Borderline Personality Disorder (B) Antisocial Personality Disorder
(C) Narcissistic Personality Disorder (D) Histrionic Personality Disorder

Which of the following best describes the concept of '"compulsion" in Obsessive-Compulsive
Disorder (OCD)?

(A) Intrusive, distressing thoughts

(B) Repetitive behaviors or mental acts performed to reduce anxiety
(C) Sudden episodes of intense fear

(D) Persistent fear of social embarrassment

Which psychological assessment tool is commonly used to evaluate symptoms of depression and
anxiety?

(A) Thematic Apperception Test (TAT)

(B) Beck Depression Inventory (BDI)

(C) Stanford-Binet Intelligence Scale

(D) Minnesota Multiphasic Personality Inventory (MMPI)

Which of the following is a commonly used tool for assessing personality disorders?

(A) Thematic Apperception Test (TAT) (B) MMPI-2

(C) Wechsler Intelligence Scale (D) Millon Clinical Multiaxial Inventory (MCMI)
Which of the following is not a cognitive error / dysfunction?

(A) Catastrophic thinking (B) Arbitrary inference

(C) Overgeneralization (D) Thought block
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A child is not eating vegetables. His mother starts giving a chocolate each time he finishes vegetables
in the diet. The condition is:

(A) Operant conditioning (B) Classical conditioning
(C) Social training (D) Negative reinforcement

A patient can be taught to control his involuntary physiological responses by which of the following
therapies:

(A) Breathing exercise (B) Stress modification

(C) Biofeedback (D) Cognitive therapy
Imprinting theory was given by?

(A) Konrad Lorenz (B) Jean Piaget

(C) John Bowlby (D) Carl Jung

Sensate focus exercise is used for?

(A) Sexual dysfunction (B) Anger management

(C) Stress manament (D) Sleep

The part of mind which works on reality principle is:

(A)Id (B) Ego

(C) Super-Ego (D) Ego ideal

Which of the following scale is used to measure severity of OCD?

(A) CAGE (B) YBOCS

(C) HAM-D (D) HAM-A

Which therapy is most closely associated with the work of Aaron Beck?

(A) Humanistic therapy (B) Gestalt therapy

(C) Psychoanalysis (D) Cognitive-behavioral therapy
The DSM-5 is published by which organization?

(A) American Psychological Association (B) World Health Organization
(C) American Psychiatric Association (D) National Institute of Mental Health
Which disorder is characterized by persistent and excessive worry about various aspects of life?
(A) Major depressive disorder (B) Generalized anxiety disorder
(C) Obsessive-compulsive disorder (D) Panic disorder

Which of the following is not considered a positive symptom of schizophrenia?
(A) Hallucinations (B) Delusions

(C) Disorganized speech (D) Affective flattening

The concept of “mens rea” refers to

(A) The physical act of committing a crime

(B) The mental state of knowing the wrongfulness of an act

(C) The severity of the crime

(D) The punishment for the crime
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255. Which term describes the assessment of an individual’s competency to stand trial?

(A) Insanity defense (B) Legal culpability

(C) Competency evaluation (D) Forensic profiling
256. Profiling, as used in forensic psychology, is primarily based on

(A) Psychological theories (B) Statistical analysis

(C) Crime scene evidence (D) Behavioral patterns
257. Which landmark case established the standard for the insanity defense?

(A) Brown v. Board of Education (B) Roe v. Wade

(C) M’Naghten (D) Miranda v. Arizona
258. In forensic psychology, “recidivism” refers to

(A) The likelihood of committing a new crime
(B) The ability to be rehabilitated
(C) The severity of the original crime
(D) The process of a trial
259. Which of the following is one of the Big Five personality traits?
(A) Neuroticism (B) Psychoticism
(C) Authoritarianism (D) Machiavellianism

260. According to Freud, which part of the personality operates on the pleasure principle?

(A) 1D B) EGO
(C) SuperEgo (D) Self

261. Which theorist is associated with the concept of “self-actualization
(A) Carl Rogers (B) Sigmund Freud
(C) Abraham Maslow (D) B.F. Skinner

262. In Carl Jung’s theory, the “shadow” represents
(A) The conscious mind
(B) The collective unconscious
(C) The darker, unconscious part of the psyche

(D) The persona or social mask

263. The term “locus of control” was coined by
(A) Albert Bandura (B) Julian Rotter
(O) Carl Jung (D) Hans Eysenck
264. Which type of validity assesses whether a test measures the theoretical construct it claims to
measure?
(A) Face validity (B) Content validity
(C) Construct validity (D) Criterion validity
265. The MMPI (Minnesota Multiphasic Personality Inventory) is primarily used to assess:
(A) Intelligence (B) Personality disorders
(C) Cognitive abilities (D) Academic achievement
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266. In psychological testing, “reliability” refers to

(A) The accuracy of the test (B) The consistency of the test results
(C) The validity of the test (D) The applicability of the test
267. A “norm-referenced” test is one that:

(A) Measures an individual’s performance against a predetermined standard
(B) Measures an individual’s performance against the performance of others
(C) Evaluates based on subjective criteria
(D) Is used for diagnostic purposes only

268. The Rorschach Inkblot Test is an example of a:
(A) Projective test (B) Objective test
(C) Neuropsychological test (D) Behavioral assessment

269. Positive psychology focuses on:

(A) Diagnosing mental illnesses (B) Enhancing well-being and happiness
(C) Treating mood disorders (D) Analyzing cognitive deficits
270. The “PERMA” model in positive psychology was developed by:
(A) Martin Seligman (B) Mihaly Csikszentmihalyi
(C) Abraham Maslow (D) Carol Dweck

271. In positive psychology, “flow” is a state characterized by
(A) Relaxation and rest
(B) Anxiety and stress
(C) Mental fatigue

(D) Complete immersion and enjoyment in an activity

272. Gratitude interventions in positive psychology are designed to:
(A) Improve physical health (B) Enhance social relationships
(C) Increase life satisfaction (D) All of the above
273. Which of the following is a core component of well-being according to positive psychology?
(A) Wealth (B) Status
(C) Meaning and purpose (D) Competitiveness

274. In clinical psychology, cognitive-behavioral therapy (CBT) primarily focuses on:
(A) Unconscious processes
(B) Changing maladaptive thoughts and behaviors
(C) Client-centered approaches

(D) Family dynamics
275. Forensic psychologists often use actuarial tools to:
(A) Diagnose mental illnesses (B) Assess risk of future criminal behavior
(C) Measure intelligence (D) Conduct therapy sessions
276. Humanistic psychology is best known for its emphasis on:
(A) Unconscious motives (B) Behavioral conditioning
(C) Human potential and growth (D) Cognitive restructuring
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Which test is often used to assess a child’s social drives or needs?

(A) Rorschach Inkblot Test

(B) Beck Depression Inventory (BDI)

(C) Children’s Apperception Test (CAT)

(D) Minnesota Multiphasic Personality Inventory (MMPI)

According to attachment theory, a child with a secure attachment is likely to:
(A) Show little distress when the caregiver leaves

(B) Show excessive dependency on the caregiver

(C) Explore the environment confidently when the caregiver is present

(D) Display aggressive behavior towards strangers

On the basis of Allport's trait theory of personality development, a rich person who gives away all
his property to society is exhibiting

(A) Central traits (B) Cardinal traits

(C) Secondary traits (D) Temperamental traits
The following is NOT a principle in the Counseling process:

(A) Include client's family members if needed

(B) Respecting the bizarre feelings of the client

(C) Helping client develop a positive attitude

(D) Making decisions for the client

The example of a continuous variable is:

(A) Height (B) Gender

(C) Blood group (D) Number of children

The fluctuation of a disease trend that occurs over a long period of time (years) is defined by:
(A) Seasonal trend (B) Cyclic trend

(©) Secular trend (D) Propagated trend

Hypocalcemic tetany can occur with disorder of:

(A) Pituitary gland (B) Adrenal gland

(C) Thyroid gland (D) Parathyroid gland

Vygotsky's theory of the zone of proximal development indicates that children can perform at
higher level by

(A) Regularly participating in competitive tests
(B) Support of teachers and capable peers

(C) Support and encouragement by parents

(D) Attending extra tuition classes on the subject

You are playing cards and somehow you begin to ""know' which card will be dealt next accurately.
You are displaying the extra-sensory perception of:

(A) Telepathy (B) Clairvoyance
(C) Psychokinesis (D) Pattern recognition
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The following is true regarding suicide:

(A) It is more prevalent in general population than in schizophrenics
(B) Women are more likely to be successful in a suicide attempt

(C©) The lifting of depression may indicate decision to commit suicide
(D) There are no scales to assess suicide risk

Among the biological and psycho-social human needs, the following is an example of a biological
need:

(A) The need for independence (B) The need for sexual satisfaction

(C) The need for achievement (D) The need for self-assertion

The term Clinical Psychology was first proposed by:

(A) Witmer (B) Binet

(O) Cattell (D) Weber

The "self-fulfilling prophecy" in social psychology suggests that:

(A) People are always motivated by their true desires.

(B) Social interactions are determined solely by external factors.

(C) Expectations about others can influence their behavior in ways that confirm those expectations.
(D) Individuals act in a way that contradicts their social identity.

Which approach in psychology emphasizes the interaction between biological predispositions and
environmental influences on personality?

(A) Behaviorism (B) Cognitive Development Theory

(C) Biopsychosocial Model (D) Humanistic Approach

Which of the following statements best describes the concept of emotional intelligence (EI)?
(A) The ability to manage and control one's emotions and recognize the emotions of others.
(B) The capability to perform mathematical calculations quickly and accurately.

(C) The skill of memorizing and recalling large amounts of information.

(D) The proficiency in understanding and applying technical knowledge.

Which of the following is NOT a symptom of post-traumatic stress disorder (PTSD)?

(A) Recurrent, involuntary distressing memories of the traumatic event

(B) Persistent avoidance of reminders of the trauma

(C) Hypervigilance and exaggerated startle response

(D) Chronic low mood and anhedonia for over two years

In which therapeutic model is "psychodrama' a central technique, where clients enact their issues
and conflicts in a group setting to gain insights and work through emotions?

(A) Rational Emotive Behavior Therapy (REBT)
(B) Cognitive Behavioral Therapy (CBT)

(C) Gestalt Therapy

(D) Psychodrama Therapy
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Which therapeutic approach emphasizes the concept of "therapist as a 'blank slate'" to facilitate
the client's projection of unresolved conflicts and unconscious thoughts?

(A) Person-Centered Therapy (B) Gestalt Therapy

(C) Psychodynamic Therapy (D) Solution-Focused Brief Therapy (SFBT)

In the Person-Centered Therapy model, the term "unconditional positive regard' refers to:

(A) The therapist’s acceptance and support of the client regardless of the client’s actions or feelings
(B) The therapist’s focus on the client’s past experiences and their influence on current behavior
(C) The therapist’s use of structured interventions to address specific issues

(D) The client’s ability to accept and integrate feedback from the therapist

In behavioral medicine, which technique involves helping patients identify and alter the thoughts
and behaviors that lead to unhealthy stress responses?

(A) Relaxation Training

(B) Biofeedback

(C) Stress Inoculation Training

(D) Mindfulness-Based Stress Reduction (MBSR)

In India, which psychological test is commonly used for assessing personality disorders in clinical
settings?

(A) Minnesota Multiphasic Personality Inventory (MMPI-2)

(B) Thematic Apperception Test (TAT)

(C) Rorschach Inkblot Test

(D) NEO Personality Inventory (NEO-PI-R)

What is the primary goal of solution-focused brief therapy (SFBT)?
(A) To uncover and explore past traumas

(B) To help clients identify and amplify solutions to their current problems
(C) To modify irrational beliefs and thought patterns

(D) To develop insight into unconscious conflicts

What is the primary focus of Cognitive Behavioral Therapy (CBT)?
(A) Exploring past traumas and unconscious conflicts

(B) Changing maladaptive thoughts and behaviors

(C) Developing a therapeutic alliance based on empathy and acceptance
(D) Reconstructing personal narratives

Which therapy technique involves helping clients recognize and change automatic negative thoughts
that contribute to their distress?

(A) Mindfulness-Based Stress Reduction (MBSR)
(B) Cognitive Restructuring
(C) Systematic Desensitization

(D) Acceptance and Commitment Therapy (ACT)
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